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Math 10 Honors Chapter 2 Review: Sequences and Series:

1. Find the sum of the followmg sequences
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c. Find the sum of the first “k” integers: 1+2+3+....+k
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d. Find the sum of the first forty terms: (~59)+(-56)+(-53)+
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2. If the sum of the first ten terms of an arithmetic sequence is four times the sum of the first five
terms, find the ratig of the first term to the common difference. Slo-— wen *+H3d Ss=%4- (>d.
oasusd = Y(saq 7_,,,\\
DE+Us A = 2041 Yodh

S - _
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6. What is the sixth term of the arithmetic sequence whose 31% and 73" terms are 18 and 46,
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7. The second term of a geometric sequence is 4 and the sixth term is 16. Find the fourth term if the
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ratio of consecutive terms is a real number.
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8. For what values of “x” is the equation true? 1+x+x" +x" +x' +....=47?

N \ Y <=3
a=\ =% —_— = =
\—% j “ .,
4 - \=-X
\‘

9. If five geometric means are inserted bet\geen 8 and 5832, find the fifth term in the geometric
sequence formed by the seven numbers.. _% — _ _ _ __ S®¥3> ® 3 Lt 3 22e LA
@ <832 = ® st(‘
ha=c* 5= N3,
*3 =0,

10. Find “x” so that the sequence: 4x—1, 2x+2, 2x—3is an arithmetic progression.
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11.If x,m,n, yis an arithmetic sequence and x,a,b,c, y is another arithmetic sequence, which of the
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12 If @, b, c,..... is an arithmetic sequence, which of the following is also arithmetic -
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13. For what value(s) of “x” will 4, x+7,x* +11form a geometric sequence?
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14. Find the sum of all the multiples of 3 from 200 to 299: 309 ~83
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15. Terms a, b, ¢, d, e form an arithmetic sequence. If b+¢=39 & a+c+d =46, find the common
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16. Given that @, x,,x,,b and y,, @, ¥,, b, y,are two arithmetic sequences, find the value of ——
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